Connect the dots! Count by 1's.
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Connect the dots! Count hy 2's.
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Connect the dots! Count hy 3's.
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Connect the dots! Count hy 4's.

12
- [ ]
[ e 1n's
124 & 120
136 104 o
4- [ ]
L 132
12e 8 128 100
[ ]
16w 06 »
20w 52
i
L *0B
24w
32w
6=
50
0w .7E
]
44
LT
[ 3
48
[ 3
52 » . -EE
[ 3
]3] 60 f1

edHelper.com



Connect the dots! Count by 5's.

15
1o -
» 120
125
105 =
o000
135 o i3
- 140 g
g0 93 45
BE =
o 160 .
185 5
ﬁ?;"l:i 180 »
// 185 o
T
o185
200 -
10 &2
® 5
80 = 20
7e w25
. w30
70
[ w35
G5
o]
L 1
G0
5% w5
A0 w

edHelper.com



